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N & 0l & Av S Z M A
016HIE = 1 8l eS| HAIILTAIY
SM: HAIIRT A
M QA S AL A
Sl HATAIRA CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
S 40| S AT 37,255,765 22,811,968 14,443,797
Py 4,460,000 4,460,000 0
= 30,000 30,000 0
Al 32,765,765 18,321,968 14,443,797
01 2H & AIJH 2 ALY 23,149, 180 11,123,145 12,026,035
Py 4,460,000 4,460,000 0
< 30,000 30,000 0
Al 8,659, 180 6,633, 145 12,026,035
HATAAS 6,137,300 125,800 6,011,500
Py 60,000 60,000 0
= 30,000 30,000 0
Al 6,047,300 35,800 6,011,500
HATAALT R 9,800 5,800 4,000
201 L2 | 5,000 1,000 4,000
02 B2l 5,000 1,000 4,000
012222 % HMA 5,000 1,000 4,000
>EISHATAIEOE 23l
23 5,000,0008 5,000 1,000 4,000
arstol QXXEME XD 120,000 120,000 0
Py 60,000 60,000 0
= 30,000 30,000 0
Al 30,000 30,000 0
201 Lt 2| 115,000 115,000 0
Py 57,500 57,500 0
< 28,750 28,750 0
Al 28,750 28,750 0
03 BAL2 b 115,000 115,000 0
OSATA O/FII2 MY SdsA FH 0” 0 30,000 £30,000
p 0 15,000 A15,000
= 0 7,500 A7,500
Al 0 7,500 AT7,500
OSATAl O1FIIZ e XS5 2g 3
2ME 23 50,000,000%! 50,000 20,000 30,000
p 25,000 10,000 15,000
= 12,500 5,000 7,500
Al 12,500 5,000 7,500
HUCA MR YEE A 6,007,500 0 6,007,500
401 A& HI LSO HI 6,007,500 0 6,007,500
01 Al 6,000,000 0 6,000,000
OBUCA HEZ MYSE =F U AL(AR
AS) 6,000,000, 0008 *14! 6,000,000 0 6,000,000
03 Al& = Ch 7,500 0 7,500
OBUECA N2 MUEE =7 U A
7,500,000 * 14! 7,500 0 7,500
VRS 6,123,040 108,505 6,014,535
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[ ASASSH

SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&

ASSeHeEmg =a 5,790 6,005 A215

201 ¢er24l 1,950 2,165 A215

01 At22t2l bl 1,080 1,200 A 120

O1 get==&Hl 1,080 1,200 A 120

DEMEX & 7Y 2 & 1,080,000& 1,080 1,200 A 120

02 =24l 870 965 A 95

O1 3323 ¥ HMA 870 965 A 95

DRERS 2 & 870,000& 870 965 A 95

TAAIE OIXMEX ANLE2(H2) HESA 6,017,250 2,500 6,014,750

201 et 2,250 2,500 A 250

01 At 2teltl 2,250 2,500 A 250

O1 Let==EHl 2,250 2,500 A 250

R N E= = 2& 2,250,000& 2,250 2,500 A 250

401 Al BIZ 201 8] 6,015,000 0 6,015,000

01 A& HI 6,000,000 0 6,000,000
OTAAIE OIMRX MYTZ2(HEE) HEZA

6,000,000, 000& =14 6,000,000 0 6,000,000

03 A& =2 THHI 15,000 0 15,000
OTAAIE OIMRX MLTZ(HE) HEZA

15,000,000 * 14! 15,000 0 15,000

IS AN 10,888,840 10,888,840 0

Xl 4,400,000 4,400,000 0

Al 6,488,840 6,488,840 0

JHEAN H-=32Xeld X MY 2,084,000 2,084,000 0

401 A& HIZ 201 I 0 2,084,000 A 2,084,000

01 A& HI 0 2,084,000 A 2,084,000
OJFXNAINE JLEAl HESLHFEX

A 28 04 0 2,084,000 A 2,084,000

403 MtXSHHSA=0l& 2,084,000 0 2,084,000

02 I 2S0CHEt A =& OH e At H 2,084,000 0 2,084,000
OJFXNAINE JHEAl HESLHFLX

A 2,084,000,000& 14 2,084,000 0 2,084,000

X HY 2,424,340 19,800 2,404,540

PR = 2,424,340 19,800 2,404,540

22U MHE NS A HE A 16,900 17,400 A 500

201 L Er2A | 4,500 5,000 A 500

01 AtR 2t 2l | 900 1,000 A 100

O1 gt=2Hl 900 1,000 A 100
DEAIIGEA & 2ZUANME JIHEAN EE

= M 2 & 900,000& 900 1,000 A 100
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SN SAGEA) - MRALY - BES 0l &t o 0% o HlDE 2
03 A2 I 3,600 4,000 A 400
OAZANME JILZ Al EXRX HAHI
2 & 3,600,000& 3,600 4,000 A 400
SMS(BH~R2) Z2MHE S M 2,003,600 0 2,003,600
TAIZHI &2 2,003,600 0 2,003,600
01 A& HI 2,000,000 0 2,000,000
OSUS(BHIH~R2) T2HESA
2,000,000, 0003 =14 2,000,000 0 2,000,000
03 AlE 2 THHI 3,600 0 3,600
OSUS(BHIH~R2) T2HESA
3,600,000 =14 3,600 0 3,600
Sts 0ISsiaa U= 401,440 0 401,440
401 AIEHI L 20 401,440 0 401,440
1T AIZHI 392,000 0 392,000
O=stts DtE=Xsla M=
392,000,000 =14 392,000 0 392,000
02 Zeltl 8,000 0 8,000
Osds Dis=sXs2 A= el
8,000,000 14| 8,000 0 8,000
03 Al 2 THHI 1,440 0 1,440
OAIZ = HHI 1,440,000& =14 1,440 0 1,440
MWEes 11,603,908 11,590, 686 13,222
RSN 11,403,908 11,390,686 13,222
EXZ gt 13,222 0 13,222
802 gtet=JIEt 13,222 0 13,222
01 =202 x3eeE= 8,770 0 8,770
O1 =1EX3 MESTA 8,770 0 8,770
DASIHAFIIXNAME XI& 8,769,250 x 14 8,770 0 8,770
02 Al - EHIEXZSEEZ 4,452 0 4,452
O1 Al - SHIEZZ AIS TN 4,385 0 4,385
DASIHRIIXNAME X3 4,384,620& x 14 4,385 0 4,385
O2 Al - THIZEXEZ OlABtE 3 67 0 67
DAStASIIXNRME K& 66,0303 * 14 67 0 67




